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1 B A 49 46 46 141
2 =EHA 48 44 45 137
3 RHTA 45 43 45 133
4 T HETA 39 43 43 125
5 FlmA 42 44 38 124
6 FEETH A 42 44 37 123
7 AT A 42 44 36 122
8 P 41 41 38 120
9 #)I™hB 42 38 39 119
10 =EthB 41 40 35 116
0| BHEHIZEA 37 41 38 116
12 JIFE 3 &6 38 39 37 114
13 BBHEHA 37 35 41 113
14 BRI ET A 36 39 37 112
15 ZiEh 34 39 38 111
16 FJ)lhB 34 37 38 109
17 GEXi 39 35 34 108
17 BEET A 42 34 32 108
19 THH 35 36 35 106
19 5%[E ™ B 36 37 33 106
21 | fHEIETT B 36 32 33 101
22 RHTB 29 30 41 100
23 S HETB 37 34 27 98
23 | {EIEITIETH A 34 30 34 98
25 T B 30 35 31 96
26 ERFE HT B 36 27 29 92
26 3£ B 33 32 27 92
28| BHXEDB 33 35 23 91
29 2T B 31 24 33 88
30 BHATHB 22 26 27 75
31 ERRE TH A 24 24 26 74
2| BHEXEC 26 21 23 70
33 £ RET 16 17 19 52




